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Class: IX                  Duration: 3 Hrs 

Date: 21-10-2023          Max. Marks: 80 

Admn: __________              Roll number: ____ 

General Instructions: 
1 This question paper has 5 sections A, B, C, D and E. 

2 Section A has 20 MCQs carrying 1 mark each. 

3 Section B has 5 questions carrying 2 marks each. 

4 Section C has 6 questions carrying 3 marks each. 

5 Section D has 4 questions carrying 5 marks each 

6 Section E has 3 case based integrated units of assessment (04 marks each) with subparts of 

the values 1, 1 and 2 marks each respectively. 

7 All questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2Qs of 3 

marks and 2 Qs of 2 marks has been provided. An internal choice has been provided in the 2 

marks questions of Section E. 

8 Draw neat figures wherever required. Take 𝜋 =
22

7
 wherever required if not stated. 

SECTION – A 
1 Which one of the following is an irrational number? 

 (A) √4  (B) 3√8  (C) √100  (D) −√0.64 

2 If we add two irrational numbers, the resulting number 

 (A) is always an irrational number  (B) is always a rational number  

 (C) may be a rational or an irrational number (D) always an integer 

3 In the polynomial (𝑥) = 10 + 𝑥 −
𝜋𝑥2

2
 , the coefficient of 𝑥2 is 

 (A) 10  (B) 1  (C) −
𝜋

2
  (D) 

𝜋

2
 

4 If 𝑥 –  2 is a factor of 𝑥3 − 3𝑥 +  5𝑎 then the value of 𝑎 is: 

 (A) 1  (B) −1  (C) 
2

5
  (D) −

2

5
 

5 Signs of the abscissa and ordinate of a point in the third quadrant are respectively: 

 (A) (+, +)  (B) (−, +)  (C) (+, −)  (D) (−, −) 

6 Point (0, −2) lies: 

 (A) on the negative direction of x- axis(B) on the negative direction of y-axis  

 (C) in the 3rd quadrant   (D) in the 4th quadrant 
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7 In graphical representation of 𝑦 =  −4, line is: 

 (A) parallel to x-axis   (B) parallel to y-axis    

 (C) passes through origin  (D) none of these 

8 The graph of the equation 𝑦 =  𝑥 passes through the point 

 (A) (
3

2
, −

3

2
) (B) (0,

3

2
)  (C) (1, 1)  (D) (−

1

2
,

1

2
) 

9 For two parallel lines sum of interior angles on the same side of a transversal line is 

 (A)  1000  (B) 1800  (C) 900  (D) 3600 

10 In the figure, the value of the angle 𝑦 –  𝑥 is 

 (A) 800  (B) 500    

(C) 00  (D) 1300 

11 The value of 
3√12

6√27
 is 

 (A) 
1

2
  (B) √2  ( C) √3  (D) 

1

3
 

12 To rationalise the denominator of 
1

𝑎+√𝑏
, we multiply this by 

(A) 
1

𝑎−√𝑏
  (B) 

1

𝑎+√𝑏
  (C) 

𝑎+√𝑏

𝑎+√𝑏
  (D) 

𝑎−√𝑏

𝑎−√𝑏
 

13 The zero of p(x) = 9x + 4 is 

 (A) 
4

9
  (B) 

9

4
  (C) −

4

9
  (D) −

9

4
 

14 If the area of an equilateral triangle is 16√3 𝑐𝑚2 then the perimeter of the triangle is 

 (A) 48 cm  (B) 24 cm  (C) 12 cm   (D) 36 cm 

15 The area of a triangular sign board of sides 5 cm, 12 cm and 13 cm is 

 (A) 
65

2
𝑐𝑚2  (B) 30 𝑐𝑚2 (C) 60 𝑐𝑚2 (D) 12 𝑐𝑚2 

16 The point whose ordinate is 4, and which lies on y-axis is 

 (A) (4, 0)  (B) (0, 4)  

(C) (1, 4)  (D) (4, 2) 

17 In figure, if 𝑙1||𝑙2 , what is the value of x.  

 (A) 900  (B) 850         

 (C) 750  (D) 700 
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18 A linear equation in two variables has        

 (A) no solution   

(B) Only one solution        

(C) Only two solutions  

(D) Infinitely many solutions 

Assertion and Reasoning questions: In the following questions, a statement of Assertion (A) is 

followed by a statement of Reason (R). Choose the correct answer out of the following choices. 

(A) Both A and R are true and R is the correct explanation of A. 

(B) Both A and R are true and R is not the correct explanation of A. 

(C) A is true but R is false. 

(D) A is false but R is true. 

19 Assertion: A point whose abscissa is 2 and ordinate is (−3) lies in fourth quadrant 

Reason: Points of the type (−, +) lie in the second quadrant 

 

20 Assertion: The constant polynomial 0 is called zero polynomial 

 Reason: √𝑥 + 3 is a polynomial. 

SECTION – B 

21 Determine the point of the linear equation 2𝑥 +  5𝑦 =  17, whose ordinate is 3 times as its 

abscissa. 

 

22 Plot the points 𝑃(1, 0), 𝑄(4, 0) 𝑎𝑛𝑑 𝑆(1, 3).  Find the coordinates of the point 𝑅(𝑥, 𝑦) such 

that PQRS form a square. 

 

23 Expand the following: (3𝑎 + 2𝑏 + 4𝑐)2 

OR 

 Find the remainder when 𝑥3 − 𝑎𝑥2 + 6𝑥 − 𝑎 is divided by x – a 

24 An angle is 200 more than 3 times the given angle. If the two angles are Supplementary, find 

the angles. 

OR 

 Find three rational numbers between 3 and 4 

 

25 In the figure, if ∠𝑃𝑄𝑅 = 1100 𝑎𝑛𝑑 ∠𝑅𝑆𝑇 = 1300 𝑎𝑛𝑑 𝑃𝑄||𝑆𝑇 then  

find the value of ∠𝑄𝑅𝑆.  
 

SECTION – C 

26 Rationalise the denominator of  
𝟓

√𝟓−√𝟑
. 

 

27 Find the value of 𝑘, if 𝑥 –  1 is a factor of 𝑝(𝑥) where 𝑝(𝑥) = 𝑘𝑥2 − 3𝑥 + 𝑘 

OR 

 Factorise: 
𝟐𝟓

𝟒
𝒙𝟐 −

𝒚𝟐

𝟗
 

 

28 Draw the graph of the equation 2𝑥 +  3𝑦 =  12.  

At what points, the graph of the equation cuts the x-axis and the y-axis? 

 

29 In the figure given by the side, If 

∠1 = 530, ∠2 = 650 𝑎𝑛𝑑 ∠3 = 430 

then find the measures of ∠𝑥 𝑎𝑛𝑑 ∠𝑦. Justify your answer.  
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30 In given figure, 𝐴𝐷 ⊥ 𝐵𝐶, AE is the angle         

bisector of ∠𝐵𝐴𝐶. Find ∠𝐷𝐴𝐸.  

 

 

 

 

 

31 The sides of a triangular plot are in the ratio 3: 5: 7  

and its perimeter is 300 m. Find its area using heron’s formula. 

OR 

 In the figure, If 𝐴𝐵|| 𝐶𝐷, then what is the value of 𝑦? 

  

 

 

 

SECTION – D 
  

32 Find the area of a triangle, two sides of which are  

8 cm and 11 cm and the perimeter is 32cm. 

 

33 Angle bisectors of interior ∠𝐴𝐵𝐶 and interior ∠𝐴𝐶𝐵 of  

a ∆𝐴𝐵𝐶 intersect at the point O. (figure at the side) 

Prove that ∠𝐵𝑂𝐶 = 900 + ∠
𝐴

2
 

 

 

 

OR 

 

 In the figures given below, decide whether 𝑙||𝑚. 

 Give reasons for each answer.  

 

 

 

 

 

 

 

 

34 Show that the points 𝐴(1, 2), 𝐵(−1, −16) and 𝐶(0, −7) lie on the graph of the linear 

equation 𝑦 =  9𝑥 –  7. Also draw the graph of the equation joining these points. 

 

35 Expand the following: (i) (4 −
𝑥

3
)

3

 (ii) (3𝑎 +
𝑏

3
)

3

 

 

OR 

  

Factorise: (i) 1 + 64𝑥3  (ii) 𝑎3 − 2√2𝑏3   
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SECTION – E 

36a What are the coordinates of Ashok’s ball? 

36b what is the distance of Deepak’s ball  

from y-axis on the picture given?  

36c What is the abscissa of the Deepa’s ball?  

 What is the ordinate of the Arjun’s ball? 

OR 

 Write the coordinates of the ball of each  

student. Mention the quadrant in which they 

lie. 

 

 

 

37 Maths teacher draws a straight line AB shown 

 on the blackboard as per the figure given above. 

 1. Now he told Raju to draw another 

 line CD as in the figure 

 2. The teacher told Ajay to  

mark ∠𝐴𝑂𝐷 = 2𝑧 

 3. Suraj was told to mark ∠𝐴𝑂𝐶 = 4𝑦 

 4. Clive made an angle ∠𝐶𝑂𝐸 = 600 

 5.  Peter marked 

 ∠𝐵𝑂𝐸 = 𝑦 𝑎𝑛𝑑 ∠𝐵𝑂𝐷 = 𝑥 respectively 

37a What is the value of 𝑥? 

37b What is the value of y? 

37c What is the relation between y and z? 

OR 

 Which set of angles form supplementary angles as per the figure. 

38 On one day, principal of a particular school visited the classroom. Class teacher was teaching 

the concept of polynomial to students. He was very much impressed by her way of teaching. 

To check, whether the students also understand the concept taught by her or not, he asked 

various questions to students, some of them are given below. Answer them. 

38a which one of the following is not a polynomial? 

 (A) 4𝑥2 + 2𝑥 − 1(B) 𝑦 +
3

𝑦
  (C) 𝑥3 − 1  (D) 𝑦2 + 5𝑦 + 1 

 

38b The polynomial of the type 𝑎𝑥2 + 𝑏𝑥 + 𝑐, 𝑎 ≠ 0 is called 

 (A) Linear polynomial (B) Quadratic (C) Cubic  (D) biquadratic 

 

38c The value of 𝑘, if (𝑥 − 1) is a factor of 4𝑥3 +  3𝑥2 − 4𝑥 + 𝑘  

 (A) 1  (B) −2  (C) −3  (D) 3 

OR 

 What are the factors of the polynomial 𝑥2 − 1. 


